
1) 4 x 8 
2) 6 x 5 
3) 7 x 3 
4) 5 x 9 
5) 10 x 2 
6) 11x 5 
7) 22x 2 
8) 30 x 5 
9) 12 x 12 
10)3 x 6 
11)2 x 6 
12)20 x 2 
13)4 x 9 

1) Martin works for 7 hours and is paid 
£8 per hour . How much is he paid? 

2) Russell is given £4 pocket money each 
week. He is saving for a game that 
costs £32. How many weeks will it take 
Russell to save enough money to buy 
the game? 

3) A carton holds 6 eggs. How many eggs 
are there in 7 full boxes? 

4) Harry earns £9 per hour and works 7 
hours. Carly earns £11 per hour and 
works 6 hours. Who earns more 
money and by how much? 
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What is the name of the last shape? 


